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1) Sudolog, I Q ............. Florine Calleen ,, Christian Hesse

2 ) Der grosse Intelligenz test, 1 Q ........ Wolfgang Reichel

3) Traine 1.Q......... Martin Semon Franzjs / Brainbook.

4 ) Das Denkspiele,....... Martin Semon  Franzis / Brainbook.

5) I Q Training Program..... Philip Carter Und Ken Russe Il  Basser Man.
6) Intellegent Training.. Helmut W Muller Und Matthias Edbauer.

7 ) Testtraning Logik.... JUrgen Hesse Und hans Scharder  Eichborn.
8) Power Training Fur Denkopf,.... Harald Havas Compact Verlog.
9 ) Neue Superstarke I Q Puzzles .... Joe Cameron / Gondrom.

10 ) Sikaku ...... Der neue Ratselhit aus Japan.

11) Kakuro .... Der neue Ratselhit aus Japan.

12) Solothurner Tagblatt Zeitung.

13) Solothurner Woche Zeitung.

14 ) Die ganze Welt des Denksports ...... Andreas Findholt.......... mvg Verlag.
15) The Ultimat IQ test book ..... Philip Carter
16 ) Psychometric Success Paul Newton ,, Helen Bristoll
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,» Matchstik Puzzles ,, Test your 1Q ,, Erich's puzzles palace

,» Math and Logic Puzzles ,, Free Math Puzzles ,, Math Beauty

,» Any Puzzle Media ,, Blackout Puzzles ,, Free Inky Puzzles

,» 1Q Test diagrams ,, Tanggram Puzzles ,, Puzzles Com.

,» Denkspiele ,, Narcissistic Numbers ,, Domino Puzzle

,» Intelligence quotient test (1Q test. ,, Number Link Puzzles

. Zig-Zag Puzzles ,, Data Interpretation,, Apt maths shortcuts

......... How many Squares , Triangles, Rhombuses.......in the figures
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